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max z = 90,000x, + 50,000x, + 40,000x5
Ss.t.

2x1 + 1.5 2, + x3 < 100
30x; + 20x, + 10x3 < 10,000
X1 + Xy > ZX3

X3 2 0.25 (x1 4 X5 X3)
or 3%; < 2%

X1, X2, x320
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maximize Z= 100x; + 150x; + 90x3

subject to:
X + Xz b x3 = 100
X1 < 60
X2 < 60
x3 < 60
X1 = X, + X3

X2 [ x3 > 2
Xis %35 %5 2 0
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X1= s bl gl 8 Oljbud! s
X2= Uped dowidl gl dawgse Ol 3us
X3= s dowiadl ol 8,8 Olyledl 30
maximize Z = 20000x; +  30000x, +  40000x;
subject to:
xy + X2 + X3 =
X = 2x, + 3x3 <
110x; + 1206, + 150x; <
X3 / (uitxotxs) < 020 or x3 <
X2 2
x / x >
X1, X2 , X3 2
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